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11+ Questions 1: Millilitres in a litre

1. A goldfish bowl of 3.4 litres is filled up with a cup. The cup is 40 ml. How many cups of water are required to fill the bowl.

A) 40 cups      B) 62 cups      C) 85 cups   D) 90 cups   E) 110 cups

2. A goldfish bowl of 2.4 litres is filled up with a cup. The cup is 60 ml. How many cups of water are required to fill the bowl.

A) 40 cups      B) 62 cups      C) 85 cups   D) 90 cups   E) 110 cups

3. A goldfish bowl of 4.2 litres is filled up with a cup. The cup is 20 ml. How many cups of water are required to fill the bowl.

A) 40 cups      B) 62 cups      C) 85 cups   D) 210 cups   E) 310 cups

4. A goldfish bowl of 1.8 litres is filled up with a cup. The cup is 30 ml. How many cups of water are required to fill the bowl.

A) 40 cups      B) 60 cups      C) 66 cups   D) 90 cups   E) 110 cups

5. A goldfish bowl of 6.4 litres is filled up with a cup. The cup is 40 ml. How many cups of water are required to fill the bowl.

A) 40 cups      B) 60 cups      C) 180 cups   D) 160 cups   E) 1600 cups

6. A goldfish bowl of 1.4 litres is filled up with a cup. The cup is 70 ml. How many cups of water are required to fill the bowl.

A) 20 cups      B) 32 cups      C) 40 cups   D) 200 cups   E) 110 cups

Answers:     1) C     2) A     3) D     4) B      5) D      6) A

